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] 1 3z 3k 44k H A ) [ %) 9y 240 A el 2 ] 35KV /)35 A8 H v 10kv -/ JE£k 895 6235.4 669.82
[} 32 0 14t i A ] ] o 22 LAY v A ) 35KV B4 AR HL itk 10kv816%k) £k 5196.2 1424.16
] 19 3z 3k 44k H A ) [ ) 9y 240 {4 e 2 ] 110k V R #1728 FL ik 10kV5917Hi 3 1 £k 8712.2 881.46
FEl P32 4k 14t Hi 2 ) I ) g 2 LAY v 8 ] 35KV 5 A8 WL b 10kV /3 FH 2856 5802.4 0

] 4 3 3 3t r 2 7] ] [0 357 4 Bt i A ] 110KV 3 H AL F 10kV5321 G £k 11518.1 0
[E] /9 32 0 14t H A ] ] o 2 LAY P A ) 35KV B4 AR HL itk 10kv L4 4818 2598.1 0

FE 3 388 11t L A ] 357 446 L A3 v 24 ) 35KV ity 388 HL il 10kV i £ 8303 10911.9 0
] ] 3 3 4k FL 28 ] ] o 22 LAY v A ) 35kV/BH A% H i 10kV X1 #4 £k 8016 10911.9 0
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] 9 32 4k 11t s 2 ) ] X g e LA v 8 ) 35kV 7 22 AR HL ik 10kV ¥ 24k 8306 6928.2 0
FE [ 32 At L 2 ) I ) 2 LA P 0 ) 35KV AL FL ik 10k V1 £k £k 805 10392.3 0
] ) 32 4k 11t H 2 ) I X g 2 A v 8 ) 110kV B #1: 48 HL il 10kv % R4k 5916 10911.9 0
FE 73 A0t i A I o 357 24 L A3 v A ) 35KV I A L 10kV 52 26813 6339.3 0
] ) 32 4k 11t Hl 2 ) I X g e A v 8 ) 110kV B #1: 48 HL il 10kV/5908 SR 25 8712.2 0
] 1 32 408 14t Fl 24 ) [ ) 7 24 L A vl 0 ] 35KV g % A8 FL ik 10kV 817 I3 £k 10911.9 0
] /43 3 3t F 2 ) [E] ) 397 240 L 44 R 0 ] 35KV ik kA8 H ik 10kV8024 %5 45 2598.1 0
] 19 3z 4k A4k H A ) [ %)y 2% {4 el 2 ] 35KV = SR A L v 10kV =5 £k 823 6339.3 0
FE] 3 et L A ] ] o 22 LAY L A ) 35KV {5 FE A8 HL bl 10kv 35 £k 889 10911.9 0
FE 3 8 A1t LA ] ] 357 446 L A3 v A ) 35KV {5 HE AR L 10kV 8071 35 £k 2598.1 0
] /4 3 3 4% FL 8 ] ] o 22 LAY L A ) 35KV it Sk A8 HL izl 10kv8025 b 72k 2598.1 0
] 19 3z 3k 44k H A ) [ ) 9y 240 A el 8 ] 35kVRH 748 H uii 10kV 7h HE£k 8019 10911.9 0
FE| P 32 4k 14t H 2 ) ] ) g 20 AR v 8 ] 35KV /I 5L A8 HL b 10kV A £ 894 5196.2 0
=] 9 3z 3k 44k H A ) [ ) 9y 240 {4 vl 2 ] 35KV {5 28 FL ik 10kV 3 3k £k 887 2598.1 0
]} 32 0 14t H A ] ] o 2 LAY v A ) 35KV 7 22 AR HL itk 10kV A1 X1| 2 8308 2598.1 0
=] 19 3 3k 44k H A ) [ ) 9y 2% {4 el 8 ] 35KV AR AR L il 10k Vi Bk £k 849 2598.1 0
FE 3 8 48t Fh A ] o 3 2 L A3 P 8 ) 110KV g 4138 HE 3 10kV5918 BBl 4k 5802.4 0
FE 73 A0t i A IR o 357 246 EL A3 v A ) 35KV AR AR L il 10kV L 847 2598.1 0
] 4 32 4k 11t s 2 ) ] X g 2 A v 8 ) 110KV £ JH 48 H il 10kV 7K 2509 10392.3 0
] 32 4k 4t Fl 2 ) ] ) 7 24 L fb o 0 ] 35KV /)N 35 A8 FL ik 10kV /) 7k 26897 5196.2 0
FE] P 32 9k 14t H 2 ) ] X g e LA v 8 ) 35KV {5 A8 HL itk 10kV 3 T.2k 884 10911.9 0
] 32 31 4t H, 20 7] ] ) 35 2 it el 5] 110kV 7 #1745 H ik 10kV#HT I 1T £k 5906 3464.1 0
] ) 32 4k 11t Hl 2 ) ] X 2 LA v 8 ) 35kV /3 2248 H ik 10kV /5 15 % 857 6339.3 0
FE 73 A0t i A ) I o 357 246 L A3 v A ) 110KV Al SR A2 FiL 3 10kV JF 2K £k 5404 5802.4 0
] 4 32 30 4t Hi A ] (] ) 7 5 11 41 B 2 ] 110KV 3 AR H 10kV/5301 3% 5 45 4849.7 414.06
FE 19 3 A L 2 ] ] o 7 T A3 P 24 ) 35KV B 3k 28 F ik 10kV802 i 5K £; 7707.6 1135.5
] ) 32 458 3t Fi, 2 ) I %) 73 35 i 2 L 23 ] 110kV A A2 H 3l 10kV A 11425419 10565.5 2541.8
] 4 3 3 4t F 2 7] I ) 7 5% Tl AL B 2 ] 35KV 2% )5 A F v 10kV87471 A< K& T [A1£k 6062.2 393.16
] 54 3 3 it F 28 ) [ o] 7 35 Tl 3t E 2 35KV i A8 H il 10kV815 4K 11 [m] £k 10565.5 1020.5
] 4 3 3 4t F 2 7] I ) 7 5% Tl A4 B 2 ] 35KV 2% )5 AL F v 10kV805 74 Jf £k 10565.5 1684.8
Rl P 32 4k 14t H 2 ) ] o 7 5 T 43 v A ) 110KV X A1 AR HR 3l 10kV594 %7K 11 =l 2% 10565.5 2201
] 9 32 48 14t i, 24 ) I ) 7 5% Tl A4 B 2 ] 35KV 2% i A8 FL izl 10kV873F %8 T [A1 £k 6858.9 86.02
FEl P32 4k 14t Hi 2 ) ] o 7 5 T 43 P A ) 35KV U Sk A8 L izl 10kv899 Tk £k 7707.6 854.38
FE 190 32 A A 2 ] I X 7K 5 i L L ] 35KV B 3k A8 FL ik 10kV 898 1 35 £ 6581.8 464.44
FE] 9 3 4k 4t Pl A ) I ) 7 5 T 43 FL 2 110KV F: FH 38 ke 3 10kV5709 8] Fg 1 [1] 10565.5 1072.1
[ 4 32 3 4t F 2 ) I ) 7 5% Tl A Bl 2 ] 35KV I KA H il 10kV 846 H & £ 4849.7 538.76
FE] )32 34tk Hht A ] 8] o] 73 35 717 438 FhL A ) 35kV T HE AR HL i 10kV 817 2k 5802.4 810.52
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] 4 32 3 4t H A ] (] ) 7 5 11 43 B 2 ] 110KV 3 AR H 10kV5316 £ 1 25 7707.6 714.78
[ 4 35 3 4t F 2 7] I 1) 7 5% Tl A4 B 2 ] 35KV /N AREAR L il 10kV802 7t A £& 6581.8 469.24
¥ 3 3 4t H 2 R 7 5% T 3t B A 110kVAE BH 28 HL ik 10kV5719 1 £ 74 g £& 6062.2 458.06
[ 4 35 3 4t F 2 7 ] 0 7 35 T A4k H A ) 35KV A% L 10kv814 Tk 2k 6581.8 886.14
W32 4t H 2 ] A 7 5% T 3t Hi A ] 110kV H 2748 HL ik 10kV LA 25501 6581.8 966.44
] 4 3 3 4t P 2 7] FE] O 7 35 T A4k H A ) 35kV T 2 A B v 10kV 859 i £k 8660.3 16.94
] 54 3 3 it F, 28 ) 5] o] i 35 Tl 3t EL 2 35KV A8 H i 10kV801 T FHZk 2598.1 907.28
FE %) 3 A0t i A I ] 7 3 43 H, A ) 110KV = 7278 i 3k 10kV i A+ £ 502 6581.8 691.94
] o4 3 3 it F 28 ) I ) 7 5 T 43 FL 2 110KV 3 2248 1 il 10kV503 # HLZL 6581.8 379.74
FE] ) 32 45k A4t Pl A ) ] X 7K 5 i L L ] 35KV B 3k A8 F ik 10kV89755 5 [ £¢ 7707.6 588.48
FE] )32 32t Hh A ] FE] ] 7 357 7 43 B, A ) 35KV 2%t A8 HL i 10k V8021 71 £ 10565.5 866.4
[ 4 3 3 4t R 2 7] T O 7 35 T A4k H A ) 110KV 3 & AL F 10kV5315 /& 74k 10565.5 377.7
] 54 3 3 it F 28 ) I ) 7 5 T A3 HL 2 110kV 5 Z2 A48 1 il 10kV/504 5 %) 2k 6581.8 1088.04
FE 173 A0t A A I ] 7 3 7T 43 H, A ) 35KV H Y AL HL 10kV 863 B A £k 10565.5 1217.8
FEl P 3 4k 14t i 2 ) I ) 7 T AR L 8 ] 110KV B 5 AR 1 il 10kV5322 = S{ £; 6581.8 447.64
] 9 32 48 4t i, 24 ] I ) 7 5% Tl A4 Bl 2 ] 35kV T £ A H b 10kV 80535 £k 6581.8 413.6
E] 952 A0t ey 4 ] FR] ] 7 355 7 438 B, 2 ) 35kVH T A HL i 10kV80LIZIEH 7707.6 1181.28
] %) 328 3 it Fl 2 ] ] 4] 7 5% T Ak F, 8 ] 35kV T+ £ A8 H itk 10kv857 HL 2k 5196.2 1185.8
] 9 32 3R 138 H, 2 ) I %) 73 5% i 42 HL 23 ] 35KV 24 i A8 HL il 10kV801 4 1 1Al 2% 10565.5 909.8
[ 4 3 3 4t F 2 7] T O 7 35 T A3k H 2 ) 35kV T Z AL FL ik 10kv853F £ 2k 7707.6 1696.38
W32 R 42E H, 2 ) W 7 5 T 44k H 2 ] 35KV T 5 A8 H ik 10kV 844 7T 8K £ 4849.7 496.16
[ 4 35 3t F 2 7] ] 0 7 35 T A3k H A ) 120kVAE FH 22 FE ik 10kV5711EFH T[] 10565.5 1449.4
FE| P32 4k 14t H 2 ) I X 7 T AR R 8 ] 35KV 2% i AR HL il 10kv 717 1T =12k 811 10565.5 1371.3
] 32 4k 14t Fl 24 ) I 1) 7 35 Tl A B 2 ] 110kV 5 42728 F ik 10kV L7 £k 556 8920.1 605.98
I 32 3t E 28 I 7k 3% 17 it B 2 110kVAE FH 28 H ik 10kV571344 G T [=] 6581.8 1751.34
FE] ) 32 4k A4t Pl A ) I ) 7K 5 i L ] 35KV B 3k 28 F ik 10kV894ffF Ik 7707.6 1276.4
] ) 32 39 45% L 0 ) Il o8 7 35 77 45% Pl 8 ) 110KV A AZ HL 3l 10kV5023 1b £k 7707.6 410
] 4 3 3 4t F 2 7] FE] 0 7 35 T A4k H A ) 110kV A 22 FE ik 10kVii 4 11455403 10565.5 2341.4
FEl P32 4k 14t H 2 ) I ) 7 T A L 8 ] 35KV i A8 H il 10kV Il T [H2k804 10565.5 2505.2
FE 193 A0t P A IR o 7 3 7 43 i, A ) 110kVF B 742 3k 10kV A £ 5023 7707.6 1035.98
FE] )3 32t Hht A ] FE] ) 7 357 7 43 B, A ] 35KV H# A A8 HL i 10kv868%% T 45 5802.4 823.52
] 4 3 3 4t F 2 7 FE] P 7 35 T A4k H A ) 110kV A AL FE ik 10kV5421 90 4= 12k 10565.5 1202.3
FE] 9 32 450 4t Pl A ) I ) 7 5 i 43 FL 23 110KV 5 Z2 48 1 il 10kV E 4R 25558 8920.1 172.58
] 32 40 14t Fl, 24 ) I ) 7 5% Tl A4 Bl 28 ] 35KV 3L A48 FL ik 10kV806 77 K H £; 10565.5 547.8
FE] )32 34tk A ] FE] ) 7 357 7 438 B, 2 ) 110KV 2238 L b 10kV553#% ¢ 2% 4971 607.5
[ 4 32 3 4t F 2 ) T P 7 35 T A4k H 2 ) 35kV T £ A8 H ik 10kV801E ¢ £k 6581.8 333.44
] ) 32 458 4t Hi, 2 ) FE] ) 7 5% 7 438 B, 2 ) 35KV A AR HL ik 10kV869F A £k 6581.8 526.74
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] 4 32 3 4t H A ] (] ) 7 5 11 43 B 2 ] 110KV 3 AR H 10kV/5323 it & 2% 5802.4 779.42
[ 4 35 3 4t F 2 7] I 1) 7 5% Tl A4 B 2 ] 35KV 3L 2748 FL ik 10kV 8073 £k 6581.8 1696.04
] P32 3R 148 H, 2 ) ] %) 73 5% i {2 HL 23 ] 110KV AF: FHAZ Ha 3k 10kV5708 i 5 11 [l 10565.5 2914.3
] 1 32 4k 14t Fl 24 ) I 1) 7 5% Tl A B 2 ] 35KV A% L 10kV i BH 26819 7707.6 629.5
[ /932 3 4t A 7 [ R 7 5 117 it B A 7 110kV A 28 H il 10kV5425 £ 2% 6062.2 2314.46
] 4 3 3 4t P 2 7] FE] O 7 35 T A4k H A ) 35kV T 2 A B v 10kV8563H HfiZk 7707.6 1057.08
] ) 32 458 3t Fl, 2 ) I ) 73 35 i 3 HL 28 ] 35KV T 5 A8 H ik 10kv 848 | A+ £k 6581.8 971
] 9 32 40 14t Fl 24 ) I ) 7 5% Tl AL Bl 2 ] 35KV /N AREAR L ik 10kV 82437 EH £ 6581.8 1002.64
] )32 3l Hht A ] FE] ) 7 357 7 438 B, 2 ] 35kVH T A8 HL i 10kv866+ 2k 7707.6 1185.78
FE] 190 3 A L 2 ] ] o4 7 5 T A3 P 24 ) 35KV B 3k A8 F ik 10kV8037K 4 L% 10565.5 511.4
] 54 3 3 it F, 2 ) ] ) 7 5 T 43 B2 35kV £ AR H itk 10KV M1 £k 816 6581.8 531.04
[ 4 3 3 4t R 2 7] I ) 7 5% Tl A B 2 ] 110KV 1 BH A2 F i 10kV571434 75 11 1] 10565.5 880.1
FE| P 32 4k 14t H 2 ) ] o 7 3 T A3 L A ) 35KV 2% i AR HL izl 10kv807 Tk e [X 114k 8660.3 250.44
] 32 40 14t Fl, 24 ) I ) 7 5% Tl A B 2 ] 35KV 3 248 H v 10kV 8333 V7] M i 45 6581.8 386.4
] 4 3 3 it F 28 ) I ) 7 3 T 43 FL 2 110kVAE BH AL H 3k 10kV5703 & 5 V4R 10565.5 1898.1
] %) 32 3 it FlL 2 ] ] ) 7 5 T Ak F 8 110KV 1 BH A2 F i 10kV57124F:FH T1 1] 10565.5 1262.4
E] 952 A0t ey 4 ] FR] ] 7 355 7 438 B, 2 ) 35KV /AR L v 10kV825 2 A £ 6581.8 525.04
FE 73 A0t i A IR o 7 3 T 43 H, A ) 110KV A 42 1 3k 10kV5416 90 i 25 6581.8 1733.9
] 9 32 3R 138 H, 2 ) I %) 73 5% i 42 HL 23 ] 35KV 327 AR HL ik 10kv804 3 A Wb T2k 6581.8 548.8
[ 4 3 3 4t F 2 7] T O 7 35 T A3k H 2 ) 120k VB4HA S FL ik 10kV50548f 7 A b 2k 6858.9 1211.02
FE] P 32 9k 14t H 2 ) I X 7 T AR R 8 ) 110KV = 448 H 10kV Kk 2k 557 2598.1 781.18
] 0 325 45k 4t Fl, 2 ) I 15 73 5 T £ Pl 24 7] 35KV T A AL FL ik 10kv867 Tl £k 7707.6 532.78
] 4 32 3 4t H A ] [ ) 73 5 T 43 1 2 ] 110KV 3 AR H 10kV'5302 # & 45 5802.4 277.12
[ 4 3 3 4t F 2 7 ] O 7 35 T A4k H A ) 110kVAE FH 22 FE ik 10kV5715 % 5t 1 [] 10565.5 23717
[ ]9 32 3 1t L A 7 ] R 7 5 117 At B A 7 110KV = 42748 H 10kV5057 75 2k 6581.8 286.94
] 4 3 3 4t P 2 ) I 1) 7 5% Tl AL B 2 ] 110kV A A2 FE ik 10kViE 4 T 25402 10565.5 158.2
] ) 32 458 3t Fi, 2 ) I %) 73 35 i 2 L 23 ] 110kV A A2 H 3l 10kV5411 E 4 Sk 25 6581.8 968.24
] 9 32 48 14t Fl, 24 ) I ) 7 5% Tl AL B 2 ] 110KV X A48 F il 10kV509% 1L Tk 2k 3966.4 0
FEl P32 4k 14t H 2 ) I ) 7 T A L 8 ] 110KV XA AL HR 3l 10kV593 41125 6581.8 0
] 9 32 48 14t Fl, 24 ) I ) 7 5% Tl A4 B 2 ] 35kV T 2 A B v 10k Vi £k 858 6581.8 0
] 9 32 450 4t Pl A ) I ) 7 5 T A3 FL 2 110KV AE BH AL H 3l 10kV5717 & 3 11 =] 10565.5 0
] 9 32 48 14t i, 24 ) I ) 7 5% Tl A4 B 2 ] 110kV A AL FE ik 10kV5405 7Kk 4.2k 10565.5 0
FE 13 et e A ] ] o 7 5 T 43 P A ) 110k VAT: FH S B 34 10kv5706k /K 114; 6581.8 0
] 32 40 14t Fl, 24 ) I ) 7 5% Tl A4 Bl 28 ] 110KV 1 BH A2 F i 10kV T 455718 7326.6 0
Rl P 3 4k 14t H 2 ) ] o 7 3 T A3 L A 35KV 3 A8 L 3 10kV804 = %4k 6581.8 0
FE 173 A0t i A I o 7 3 T 43 v, A ) 35KV 2% i A8 FL izl 10kV8067A] Z: K 1T [l £ 10565.5 0
FE] )32 34tk Hht A ] FE] ) 7 5% 7 438 B, 2 ) 35KV /N AR L v 10kV8237K & £k 5802.4 0
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] P 32 3R 148 H 2 ) ] %) 73 5% i 3 1L 23 ] 35KV A AR HL ik 10kV 8053t L £& 10565.5 0
FE 73 A0t i A IR o 7 3 T 43 H, A ) 110KV A 42 1 3 10kv5404 5 b3k 11 4% 10565.5 0
] P32 3R 148 H, 2 ) ] %) 73 5% i {2 HL 23 ] 110kV B4 128 HL il 10kV597F 8K £& 5802.4 0
[ /32 it Al A ) I 1) 73 5 T AL Pl 2 7] 35KV 2 i A8 FL ik 10kv878 Lk [ [X 12; 8660.3 0
] P 32 3R 138 H 2 ) I %) 73 5% i {2 H 28 ] 35kV £ A8 H ik 10kV 81377 Jii £& 6581.8 0
] 1 32 408 14t Fl 24 ) I ) 7 5% Tl A4 B 2 ] 110k VBRAHAAE FL ik 10kV5034/ 3¢ £k 10565.5 0
] ) 32 458 3t Fl, 2 ) I ) 73 35 i 3 HL 28 ] 110KV = 42748 H i 10kv563 84742 7K 8920.1 0
] 9 32 40 14t Fl 24 ) I ) 7 5% Tl AL Bl 2 ] 110KV X 48 F il 10kV5987< £k 8920.1 0
FE] 3 et L A ] ] o 7 3 T 43 v A 110KV 5 5 AR 1 il 10kV5311 i) £k 6581.8 0
] 1 32 40 14t i, 24 ) I ) 7 5% Tl A4 Bl 2 ] 35KV 3L A4 FL ik 10kV 8345 5% 2% 7707.6 0
FE| P 32 4k 14t H 2 ) ] o 7 3 T 43 v A ) 110kVF% 3] 48 1 il 10kV 4 11 £k 5021 10565.5 0
] /4 3 3 it ri 2 ) I o 7 5 T At H A 110KV 1 BH A2 F i 10kV5702 & 5 ITT4% 10565.5 0
] )3 4l b A ] FE] ) 7 357 7 438 B, 2 ) 110KV BAAFI AL HE 3 10kV 7K T [F1£2501 10565.5 0
] 32 40 14t Fl, 24 ) I ) 7 5% Tl A B 2 ] 110KV 3 5 AL F 10kV53127F 58 8 10565.5 0
] ) 32 45k 4t Fh, 2 ) FE] ) 7 357 7 438 B, 2 ) 35kV T 5 A8 H izl 10kV 80114 £k 10565.5 0
FE 173 A0t i A I o 7 3 7T 43 v, A ) 110KV A 42 1 3k 10kV5418 7K I 2% 10565.5 0
] ) 32 458 4t H, 2 ) ] ) 7 5 T 43 H 23 ] 110kV A AL 1 il 10kV Lk T [H1£25415 4763.1 0
FE 73 A0t i A IR o 7 3 T 43 H, A ) 110kV 5 2278 H ik 10kV i T £k 554 2598.1 0
] R 32 3 14 b 2 ) FE] ] 73 35 717 44 Fh 4 ) 110KV XTI AR B 3 10kV599 LML £ 2% 8920.1 0
T P 32 9k 1t Fl A ) I X 7K 5 i L ) 35KV 2 i A8 FL ik 10kV 8083, 7 £ 10565.5 0
] P32 3R 148 H 2 ) ] o 4y A3 v 24 ] 35KV [/ 3 48 H ik 10kV Il £ 887 2598.1 183.98
[ 4 35 3t F 2 7] ] ) 45 i L {2 v 20 ] 110KV 7K X HE AR L 10kV5215 R AL LR 6062.2 1305.76
] 9 32 3R 148 H 2 ) ] o 4y A3 v 24 ] 110KV 5K ¢ FE AR HEL il 10kV/5221 - J5 25 8712.2 468.96
[ 4 3 3 4t F 2 7 ] ) 45 i L A2 Ef 0 ] 110KV 7K X HE AR Ll 10kV5227) 4 II |1 2% 7326.6 368.68
FE| P32 9k 14t H 2 ) Eb N B N AT 110kV 548 HL ik 10kV #1825 5926 2598.1 591.58
] 4 3 3 4t P 2 ) [ ) 45 il L A B 20 ] 35KV HT I AL FL ik 10kV8209 % 1 2% 6062.2 945.36
] ) 32 458 3t Fi, 2 ) ] ) 4y A3 v 28 ] 110KV i JE2 A2 H 10kV/5405 375 B 2% 2598.1 1169.98
] 9 32 48 14t Fl, 24 ) ] ) 45 iy L A Ff 0 ] 110k V i J 28 FL ik 10kV E 1782k 5418 5196.2 387.96
] ) 32 45k 3t Fl, 2 ) ] ) 4y A3 v 24 ] 35KV AL HLk 10kV 5 5 £ 866 4156.9 328.92
FE] ) 32 45k A4t Pl A ) ] ) 45 ) B P ) 110KV iy HE AR F 10kV i 5 £k 5306 3914.4 2339.82
E] 952 AL Hh A ] o 3y LAY v 4 ) 35KV T IR HL il 10kv8214%% T Ib 4k 8712.2 693.06
FE] ) 32 45k A4t Pl 4 ) ] ) 45 B P ) 110KV ity HE AR F 10kV I 44 2% 5309 2598.1 1753.88
] )32 32k Hht A ] ISl oA £ iy B A3 b 24 ) 110KV i J5L 38 HE 3 10kvs4170d X T 25 8712.2 1272.96
] 32 40 14t Fl, 24 ) T ) 45 ity L A Ff 2 ] 35kV B 5 AL Lk 10kV X1| X £k 855 5196.2 149.96
E] 952 A0t b A (] ) 3y A3 v 8 ] 110KV 5K ¢ FE AL v 3l 10kv Tk £ 5214 10392.3 576.14
[ 4 32 3 4t F 2 ) ] ) 45 iy A4 Pl 20 ] 35KV T AL Ll 10kV8211 H Jik 2k 6062.2 373.86
] ) 32 458 4t Hi, 2 ) ] ) 4y A3 v 24 ] 110kV 5K ¢ FE AR 1y 3l 10kV 7 XI5 2 5225 2598.1 1145.68
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] P 32 3R 148 H 2 ) ] ) 4y A3 v 24 ] 110kV 5K ¢ FE AL H il 10kV5222 T 4 45 8712.2 80.96
] o) 12 31 4k FL 2 ) ] I 45 L Ak F 2 ] 35KV 5 A HL 10kV 9 it £ 867 4156.9 40.62
] P32 3R 148 H, 2 ) ] ) 4y A3 v 24 ] 110kV 5K ¢ FE AL H, il 10kV/5212 5275 45 4364.8 345.14
] 1 32 4k 14t Fl 24 ) [ ) 45 i 2L A2 v 2 ] 35KV 3 7 AL FL ik 10kV868 - 77 Sk £& 2598.1 237.48
FEl P38 9k 14t H 2 ) EbiN:ii B N AT 110kV 7 HEAR HL ik 10kV531975 I 11114% 2598.1 1165.98
] 4 3 3 4t P 2 7] I ) 45 ity L A2 B 2 ] 35KV HT I AL FL ki 10kv8212) 3% T [H14k 6062.2 781.26
] ) 32 458 3t Fl, 2 ) ] ) 4y A3 v 28 ] 110k V iy HEAR H il 10kV5320 5 K 75 4 4936.3 737.3
] 9 32 40 14t Fl 24 ) ] ) 45 i L A Ff 20 ] 35KV fiFE U A2 FL ik 10kV % 55 £k 875 6928.2 90.3
] o4 3 3 it F 28 ) E b N = N AT 35kV/HE F A8 HL v 10kv L £k 863 41136 570.38
] 4 3 3 4t F 2 7 ] ) 45 iy L A4 Ff 2 ] 35KV HT I AL FL ik 10kV8207 J7 3 4k 8712.2 118.56
FE| P 32 4k 14t H 2 ) ] ) 3ty A3 v 8 ] 110kV 5K ¢ FE AR HE, 3l 10kV i 76 £ 5232 2598.1 2052.28
FE 190 3 A A 2 ] ] o] 1 pHy L A3 P 24 ) 110KV iy HEAR 1 3k 10kV g K72 5318 2598.1 1929.68
E] 952 A0t ey A ] o 3y LAY v 4 ) 35KV T IR HL il 10kv b2k 8213 7326.6 1811.18
FE] ) 32 45k A4t Pl 4 ) ] ) 45 ) B P ) 110KV ity HE AR F 10kV | F 25307 7274.6 1620.08
E] 952 A0t b A ] ) 4y A3 v 8 ] 110KV il A2 H 3l 10kV ¥ 4 £k 5416 41136 89
FE] 190 3 A L 2 ] ] o L pH L A3 P 24 ) 110KV iy HEAR 3k 10kV 3 717 £k 5308 5369.4 574.22
FEl P 32 9k 14t H 2 ) ] o 3 g LAY e A ) 110kV 7K 5K FEAZ HL 10kV5220 K A% [X 25 8712.2 166.96
[ 4 3 3t P 2 7] ] ] 45 i L A2 v 2 ] 110kV 7K 5K FEAZ HL 10kV 7R M i £k 5216 8712.2 1267.46
FEl P 32 9k 14t H 2 ) Ebig:ii B N AT 35KV AR AL HL ik 10kV #2874 3464.1 51.8
[ 4 3 3 4t F 2 7] ] ) 45 i L {2 o 2 ] 35KV 3 7 AL FL ik 10k Vi H 2k 864 2598.1 663.78
] P32 3R 148 H 2 ) ] o 4y A3 v 24 ] 35KV [/ 3 48 H ik 10kV 77 111 £k 889 4330.1 168.98
] 9 32 4k 4t Fl 24 ) ] ) 45 i L {2 v 20 ] 110k V 5K ¢ AL P b 10kV 3 1 £ 5213 8712.2 820.56
] 9 32 3R 148 H 2 ) ] o 4y A3 v 24 ] 110KV 5K ¢ FE AR HEL il 10kV A F 72 5231 2598.1 1436.68
] 32 4k 14t Fl 24 ) ] ) 45 i L A2 Ef 0 ] 35KV [/ 42 FL ik 10k Vi 75 £k 801 2598.1 714.98
] P32 3 148 H 2 ) ] o) 4y A3 v 24 ] 35KV 7 AR HL ik 10kViE 5 2896 2598.1 320.7
] 9 32 40 4t i 24 ) [ ) 45 il L A B 20 ] 110k V 5K ¢ A% P b 10kV 3§ %R £ 5226 3464.1 2022.98
] 54 3 3 it H, 28 ) ] o) 3 i Lk F 0 ] 110KV i JE2 A2 H 10kV5408]7 [X 112k 8712.2 0
FE 173 A0t i A IR o Ly L A3 v, A ) 110KV 5K Z¢ FEAZ L 10kV % 7R £ 5228 6581.8 0
] ) 32 45k 3t Fl, 2 ) ] ) 4y A3 v 24 ] 35KV 7 AR HL ik 10kV R B 2k 897 2598.1 0
] 9 32 48 14t Fl, 24 ) ] ) 45 ity L A2 Ff 2 ] 110k Vi J 22 FL ik 10kV'5404 716 77 2% 6062.2 0
Rl P 32 4k 14t H 2 ) EhiN: i B N AT 110KV i HE AR B 3 10kV H1 %2 5305 7326.6 0
] 9 32 48 14t i, 24 ) ] ) 45 iy L A Ff 2 ] 35KV 7 I AL FL 10KV K £k 894 2598.1 0
E] 952 A0t Hh A ] o 3 g LAY v A ) 110kV 378 B 3 10kV K H £k 5904 2598.1 0
] P59 32 3 4t H 2 7] ] [P 3 i LA 2 ) 110KV ity HE AR F 10kV/5316 5 e L1y 11 =] 2% 3464.1 0
Rl P 3 4k 14t H 2 ) (] ) 3y A3 v 8 ] 110kV £ 5548 1 il 10kV F 45913 6928.2 0
T P 32 43k 4k Pl 2 ) I ) 45y L {2 Pl 20 ] 110kV 7K 5K FEAZ Lol 10kV5201 2 JfF 2% 4156.9 0
E] 952 A0k ey A ] E b g B N AT 35kVE AR Lk 10kV T [ £k 854 4113.6 0
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] P 32 3R 148 H 2 ) ] ) 4y A3 v 24 ] 35kVE 5 AR HLk 10kV R X 2,853 4113.6 0

FE ) 32 9k A1t Fi A ) ] ) 4 ) A P ) 110kV 7K 5K FE AR HL ol 10kV5204 4™ U 2% 8712.2 0

] ) 32 4k 11t H 2 ) ] 903 B 3 [X 3% F R 110kV #7328 HL il 10kV/5824 1L 45 74 £ 8660.3 1233.84
FE] ) 32 9k A1t Fl A ) I 453 S X A3 L v 110KV T Hh A7 Lo 10kV5639 & I 2% 9353.1 1743.98
] 59 32 30 4t B 8 ) ] P4 3 333 [X 3 b o 110kV 1 7R 28 HL il 10kV5831 /5 5% 48 A 2% 10149.8 2065.74
FE] ) 32 4ok A4t Pl A ) I 4% 3 S X A3 L v 110KV T Hh A% Lok 10kV5638 fi /K 25 10149.8 3091.04
] ) 32 458 3t Fl, 2 ) ] 903 3 3 X 3% H R 220kV 4R 1AL HL 10kV5757iM AR 7R 1 £k 8712.2 1291.56
] ¥4 3 3 ik R 2 ) ] 3 I3 X ik B 110KV % A< A48 F i 10kV 58277 R AR £k 10149.8 1244.84
FEl P 32 4k 14t H 2 ) ] [0 3 3 3 X A3 v e 110KV I H A2 v 3l 10kV5641 1% 37 T4 £ 6495.2 667.96
FE] ) 32 45k A4t Pl A ) I 4% 3 S X A3 L v 110KV T3 Hh AR Lo 10kV5621 5% & B £k 7326.6 327.18
] 54 3 3 it F, 2 ) ] 9038 4 3 [X 3% v o 220kV £ 1AL HL 10kV5728 75 i 4% 8712.2 923.96
FE] ) 32 45k A4t Fl 4 ) I 4% 3 S X 3 L v 220KV 4RI A8 FL i 10kV5748 Jif A 2% 7326.6 530.88
EWIZmat AT [ E ISR IX A G 220KV AR5 HL U 10kV5734 7 FF AR 2 10149.8 976.54
FE] ) 32 45k A4t Pl 4 ) I 4% 3 S X A3 L v 110KV I H A% P b 10kV5604 i dk 2% 7326.6 2152.78
] 4 32 39 45% L 0 ] V] 4% 32 B3 DX A3 e 110KV 1L 38 F vk 10kv5307 1. [X £k 10149.8 28.14
] ¥4 3 3 it R 28 ) ] 38 I3 X it B 110KV % A< A48 F i 10kV 5806 4< i £k 7447.8 1165.84
] ) 32 458 4t H, 2 ) V] 9 3 3 X A1 o 110KV 43k, 74 38 1 3 10KV546 X JEL b 2k 8660.3 1108.84
[ 4 3 3t P 2 7] V] 0 32 300 33 X A3 o 110KV I H A P 10kV/5606 3 1 2% 10149.8 976.54
] 59 32 30 (4t B 8 ) ] P4 32 333 [X 3 b o 110kVI L 28 H ik 10kV5309 J5 F £k 9353.1 1702.78
[ 4 3 3 4t F 2 7] V] 0 32 300 33 X A3 b o 110KV T3 Hh A7 L 10kV5609 7 I 2k 10149.8 2655.24
] 59 32 30 4t B 8 ) ] P4 32 333 [X 3 b o 110kVI 628 HL ik 10kV5319%FF 114k 8712.2 1547.86
FE ) 32 9k 1t Fl A ) I 5] 3 S X A3 R e 220KV 4R A8 FL ik 10kV/ 574553 %< 2% 10149.8 1086.64
FE| P32 4k 14t H 2 ) ] [0 3 3 X A3 v 110KV 3 H A2 H 3l 10kV/5611 Hif Bff 25 7326.6 3099.78
] R 3 I ik R 2 ) [ 9 32 338 X 2 i A 110KV 41 P15 A48 F il 10kV/ 5587 75 £k 10149.8 1118.04
4 3 3 4k FL 28 ] )3 3 3, X it b, 110KV 315 76 45 H i 10kV534f#F T £k 8712.2 63.26
FE] ) 32 4k A4t Pl A ) I %] 3 S X A3 v 120kV I, 75 48 L il 10kV531 74 T.2; 9786.1 1711.48
FE| P 32 4k 14t H 2 ) ] [0 3 3 3 X A3 v 110k V R ZR A48 H 3l 10kV/5811 JR J& 2% 7326.6 637.08
FE] ) 32 45k A4t Pl A ) I 4% 3 S X A3 L v 220KV 4R i1 A2 FL ik 10kV5744 )\ —% 9405 1646.3
] ) 32 45k 3t Fl, 2 ) ] 903 33 X 3% H R 110KV 3 o 42 1 3l 10kV5617 H13% 4% 7326.6 1090.18
FE] ) 32 45k A4t Pl A ) I 4% 3 Sl X A3 L v 120kV 3, 75 48 L izl 10kv525 Tk 2k 10149.8 1285.24
[} 32 0 14t i A ] V] 4% 32 B3 DX A2 e e 110KV R 7R 42 1 3l 10kV'5803 4R £k 10149.8 1733.94
FE] ) 32 45k A4t Pl 4 ) I 4% 3 S X A3 L v 220KV 4R i1 A8 FL ik 10kV5722 5% LT 1 £k 10149.8 1340.34
] 59 3 3 it F, 28 ) ] 9038 3 3 X 3% v o 220kV 514 Lk 10kV/5731 6 74 [l £ 9405 1127.1
FE 190 32 A A 2 ] ] 9 38 3 3 X A3 Pl o 120kV I, 75 48 L ik 10kV539 G 3 15 £& 7326.6 527.48
FE] )32 34tk A ] ] 532 i, X A2 ey v 220kV HR- W] A8 Lk 10kV5743 3 114% 8712.2 478.16
FE] ) 32 45k A4t Fl 4 ) I 4% 3 S X A3 L v 220KV 4R A8 FL 10kV5727) 3 112k 10149.8 3400.94
] ) 32 458 4t Hi, 2 ) ] 903 3 3 [X 3% H 110KV FR 7R A48 1 bl 10kV5828 £ 7= 25 6495.2 833.06
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] 9 32 4k 11t s 2 ) ] 903 B 3 [X 3% F R 110kV 7R 28 HL il 10kV5836 7R 1 114k 10149.8 1073.04
FE ) 32 9k A1t Fi A ) I %] 32 S X A3 Rl e 120kVIR 628 F ik 10kv5308 4L 3t 2% 9353.1 632.38
] 4 32 39 45% FHL 0 ) 1] 13 3, DX A3 e v 110KV 45k, A% HL 3 10kV5616 7K 5 £k 6495.2 2146.66
] R 3 I it R 2 ) I 9 32 3315 X 2 i P 120kVIR b 28 F ik 10kV5314 5 111 28 9405 2037.5
FEl P38 9k 14t H 2 ) ] [0 3 I X A3 v 110KV 3 H A2 H 3l 10kV5640 5 3% 7R 2% 10149.8 2491.04
FE] ) 32 4ok A4t Pl A ) ] 90 38 3 3 X A3 o 110k VT I H 2 P i 10kV5624 5 45 2% 3966.4 2253.72
] 32 3 1t H A ] ] 903 3 3 X 3% H R 110kV ML 7R 38 HE 3 10kv58371 4, 1 £k 8712.2 422.06
FE] ) 32 45k A4t Pl 4 ) I 4% 3 S X A3 L v 110KV I %< 42 1 3k 10kV5739%: 75 [ £& 8712.2 664.76
] o4 3 3 it F 28 ) ] 9038 3 [X 3% v o 220kV 4RI AR HL ik 10kV5733 Jff P 25 9405 968.3
FE] 190 3 A L 2 ] I 4% 3 S X A3 L v 110KV 4k 78 748 v 3 10kV53376 147 2% 8660.3 738.54
[E] /4 32 0 14t i A ] V] 4% 3 B3 DX A3 e e 110KV b AR H 3l 10kV5325 & FEL: 6495.2 982.06
FE] ) 32 45k A4t Fl 4 ) I 4% 3 S X 3 L v 120kV I AL A8 HL ik 10kV5324F [ 45 9405 152.3
] )3 4l b A ] ] 532 i, X A2E e o 220kV HR W] A8 HL 10kVS74941 il A< 2% 8712.2 4014.9
FE] ) 32 45k A4t Pl 4 ) I 4% 3 S X A3 L v 110kV #7748 i 3k 10kvS807 444 1 4% 10149.8 750.84
FE] %) 3 4tk Hht A ] 5] 532 i, X 3% ey o 220kV HR W] A8 HL 10kv5717 24k 8712.2 409.36
FE] ) 32 45k 14t Pl 4 ) I 4% 3 S X A3 L v 220KV 4R i1 A8 FL 10kV5729 H K&k 7326.6 769.98
] ) 32 458 4t H, 2 ) V] 9 3 3 X A1 o 110kV 4l 7R B8 1 3 10kV5743 )\ HLAH 25 7326.6 1207.88
FE 19 32 At L A ) ] 90 38 3 3 X A3 o 110KV 7= 42 v 3k 10kV5731J8 ZK K 1 £k 7326.6 3562.68
] 4 32 4k 11t s 2 ) ] 903 B 3 [X 3% F R 110KV 3 H AL H 3l 10kV/5637 5 Y5 7t #e 28 8712.2 4447.96
FE 19 2 A L 2 ] ] X 38 3 3 X A3 vl o 110KV IR %< 42 1 3k 10kV57044R 4 db 2k 8712.2 1394.36
[ ]9 32 3 4t L A 7 ] 0 32 330 [X 3 L A 110KV 3 16 A8 H 10kV5323 % HJkh2k 10149.8 2016.04
FE ) 32 9k 1t Fl A ) ] X 38 3 3 X A3 o 110KV I H 2 P b 10kV5614 H1 4R 2% 10149.8 0
FE| P32 4k 14t H 2 ) ] [0 3 3 X A3 v 110KV, 75 28 HL il 10kV/53238, ¥ £k 8660.3 0
FE 19 3 At FL 2 ] ] X 38 3 X A3 Pl o 220KV 4R A8 FL 10kV5718 P 35k 3% e £k 8712.2 0
FE| P32 9k 14t H 2 ) ] [0 3 I X A3 v 110KV 3 o A2 H 3l 10kV5619 3 T £& 10149.8 0
FE 19 3 A L 2 ] ] X 38 3 3 X A3 Pl o 110kVIR 628 F ki 10kV5316 [E i 25 10149.8 0
] ) 32 458 3t Fi, 2 ) ] 903 3 3 X 3% HL R 110k V R ZR A48 H 3l 10kV/5821 5 i1 2% 8712.2 0
FE] ) 32 45k A4t Pl A ) I 4% 3 S X A3 L v 220KV 4R i1 A2 FL ik 10kV5746 74 3£ 16 2% 8313.8 0
] % 325 33 it | A ) ] 932 485 33 X v v 220kV 4R 1AL HL 10kV57244 NTE 2% 8712.2 0
FE] ) 32 45k A4t Pl A ) I 4% 3 Sl X A3 L v 220KV 4R A8 FL ik 10kV5756 41 jfE 7H 2 10392.3 0
[} 32 0 14t i A ] V] 4% 32 B3 DX A2 e e 110KV 76 45 H 3l 10kV559: H 72 [ 114k 9872.7 0
FE] ) 32 45k A4t Pl 4 ) I 4% 3 S X A3 L v 110KV T3 A Ll 10kV5607 1 J5 2% 8660.3 0
[E] /4 32 14t F A ] V] %) 3 B3 DX A2 e e 110kVI b AR H il 10kV5301%7F 1 £ 9353.1 0
FE] ) 32 4ok A4t Fl 4 ) I 453 S X A3 L v 110kV #7742 i 3k 10kV5832 41 R £k 5196.2 0
FE 3 et e A ] V] 4% 32 S DX A3 e 110KV 3 42 v 3l 10kvS608 A IR T 4% 10149.8 0
FE] ) 32 45k A4t Fl 4 ) I 4% 3 S X A3 L v 110KV IR 7= 42 v 3k 10kV5728 R Bk I112k 8712.2 0
] ) 32 39 £5% L 0 ) 1] 0 32 4 X 3t v 110KV 43k, 74 38 1 3 10kV557 RUAFEL 10149.8 0
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FE] P 32 4k 14t H 2 ) ] 9038 4 3 [X 3% H 220kV 41 AR HL ik 10kV5747f#JF 112k 7326.6 0
FE [ 32 At L 2 ) I %] 32 S X A3 Rl e 110KV IR %< 42 i 3k 10kV57267 4 [114% 7447.8 0
FE 3 48t Eh 2 7 ] 9 3 3 X 5% e 110KV 73 28 HL il 10kV5707 1 R 4% 10149.8 0
FE] ) 32 9k A1t Fl A ) ] X 38 3 X A3 Pl o 110k VT I H 2 P i 10kV5618 i) £% 7326.6 0
FEl P38 9k 14t H 2 ) ] 9 3 3 X 5% e 110KV 43k 75 A B 33 10kv551¢ H 3 lE 1 2k 9872.7 0
FE 19 3 A L 2 ] I 4% 3 S X A3 L v 110KV 4k 7 748 H 3k 10kv5434k T4% 8660.3 0
] 32 3 1t H A ] ] 903 3 3 X 3% H R 110KV I o A2 1 3l 10kV5625 T4 P £; 10149.8 0
FE 190 32 A L A ] I 4% 3 S X A3 L v 110KV I %< 42 1 3k 10kV5723 R Bk 112k 8712.2 0
] /9 32 30 14t F A ] V] 433 B3 DX A3 i e 110KV FR 7R A48 1 bl 10kv58337H] %= 114; 8712.2 0
FE] 190 3 A L 2 ] ] 9 38 3 3 X A3 Pl o 220KV 4R A8 FL ik 10kv5732HIfE T 4% 8712.2 0
FE 3 et L A ] ] [0 3 3 X A3 v 110KV 43k, 74 38 1 3 10kv547 3 57 2% 10149.8 0
FE 190 3 A A 2 ] I 4% 3 S X 3 L v 120kV I AL A8 HL ik 10kV/5206 % 5 1 R £k 8712.2 0
] 9 32 45k it Pl A ) ] 9038 3 X 4% v o 220KV §R 1AL HL ik 10kv5755] 37 1 4k 10149.8 0
FE 190 32 A A 2 ] I 4% 3 S X A3 L v 110KV I H A% P b 10kv5615F R, 1 45 8712.2 0
]} 32 0 14t H A ] V] 4% 32 B3 DX A3 e 110KV 7R 48 1 3l 10kV5713 Rk 1 2% 8712.2 0
FE] 190 3 A L 2 ] I 4% 3 S X A3 L v 120kV I3 AL A8 HL itk 10kV5317%31 % 2k 8712.2 0
FE 43 St e A ] ] [0 3 I X A3 v e 110k VAL 38 L 3k 10kV5304 [ | 4% 10149.8 0
FE 19 32 At L A ) ] 90 38 3 3 X A3 o 110KV Ik 74 48 1 3 10kV53541 it 2% 10149.8 0
] 59 32 30 (4t B 8 ) ] P4 32 333 [X 3 b o 110kVI L 28 H ik 10kV5202F BKSF 1145 10149.8 0
] 32 4k 4t Fl 2 ) ] 90 35 3 3 [ A2 v 120k V E A28 F ik 10kV/5508 34 1] K & £k 10149.8 0
(Ee= A P4 32 539 XL L e 220k V R A8 HL 10kV5716 7E i £k 8712.2 0
FE 9 32 At L 2 ) I 5] 3 S X A3 R e 120kVIR 628 FE ik 10kv5313 LBk 8712.2 0
FE 3 8 48t E A 7 ] 9 325 3 [X 446 e 110kV 73 28 HL il 10kV/5829 # 1 45 10149.8 0
FE 19 3 At FL 2 ] I 4% 3 S X A3 v 110kV #R %< 748 i 3k 10kV/5801 f 5% 3 16 £k 8712.2 0
FE| P32 9k 14t H 2 ) ] [0 3 I X A3 v 110KV 3 o A2 H 3l 10kV5622 i b 2% 8660.3 0
] 4 3 3 4t P 2 ) EM@%W%?%EE&% 110KV %2 &2 48 F 10kV/505 % P £ 7326.6 316.38
] ) 32 458 3t Fi, 2 ) Emgﬁmﬁg%ﬁ&&% 110kV 7% AL 1 il 10kv ¥ AR 2k 5128 9699.5 1650.3
[ W32 3 4k H 2 7 EM@%W%?%EE&% 110k VI, 73 28 FL ik 10kV5708 /& 5 £ 10149.8 390.24
] ) 32 45k 3t Fl, 2 ) EmgﬁmigﬁﬁB@% 110k V R 7R A48 1 bl 10kV/5814 113 25 8712.2 442.16
] 4 3 3 4t F 2 7] EM@%W%?%EE&% 110KV 7 Hi AR F 10kV/5606 X M 5 6062.2 323.96
] ) 32 458 3t F, 2 ) Emgﬁmigﬁﬁgﬁ% 110KV R 7R 42 1 3l 10kv5812[r] #h 114% 8712.2 1198.56
] 9 32 48 14t i, 24 ) EM@WW%?%EE&% 110kV 7 A8 FL ik 10kV % B R £ 5127 11033.2 2781.96
FE 13 et e A ] EMEﬁmigﬁﬁgﬁ% 110KV 798 AL Ll 10kV5623 2% T 11125 8712.2 1749.96
[ W3 3 4k H 2 7 EM@WW%?%EE&% 110kVIR 73 28 FL ik 10kV5745 2] K 3E 112k 10149.8 2714.74
] 4 3 3 it F, 28 ) Ewﬁﬁmigﬁﬁgﬁﬁ 110KV 7R A48 1 3l 10kV/5705 43 #8525 10149.8 1121.54
] 32 8 0t Fi A 7 EM@%W%?%EE&% 110KV IR 7= 42 v 3k 10kV/5725 W K i 2% 8712.2 2151.36
] ) 32 458 4t Hi, 2 ) PRI 32 T 225 T 2 X ke 110kV 7% B A48 1 bl 10kV % — %% 5115 8712.2 2552.46
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6] ¥R 32 3k it H 2 ) Mwﬁﬁﬁigﬁﬁgﬁﬁ 110kV %= o A5 H il 10kV5636 i 5= 2k 11691.3 209.44
[ PR32 3k ik L N ) Emgmmigﬁﬁg&m 110KV b AH A8 H 10kV5923 {5k £ 11033.2 896.66
] [ 32 335 it B, 20 ) Mwﬁﬁﬁigﬁﬁgﬁ% 110kV E A4S B 3k 10kV5524 F Ml 11 2% 7326.6 510.58
] 94 3 3 ik P 2 7] Emgﬁmigﬁﬁgﬁﬁ 110kV ZE A% L 3 10kV 5607 M 3 2% 8712.2 728.76
] [ 32 31 it H, 20 ) Emgﬁm%gﬁﬁgﬁ% 110KV I 7R 2% L 33y 10kV5724 2 ) £ 8712.2 1948.96
[ PR32 3k ik L N ) EM@%W%?%EE&% 110KV % o A% HL 10kV56047H 45 T £k 8712.2 1304.96
] [ 3 3 it v 2 ) Emgﬁﬁ%g%ﬁg&% 110KV I 7R 2% L33 10kV5719 4 % 2% 8712.2 1297.16
[ 9 32 31 ik FEL 2 ) EM@%W%?%EE&% 110k VIR 4R A% FL 3 10kVS737¥EM F 5 2k 8712.2 2019.26
] [ 3 S it v 2 ) Emgﬁmigﬁﬁgﬁ% 110kV 75 #5725 L33l 10kV R 2% 5112 11033.2 2163.06
[ [ 32 31 ik FEL 2 ) EMﬁﬁmﬁgﬁEE&% 35kVALIA A HL 3k 10kV Tl £k 8106 11033.2 1310.76
] [0 32 335 it H, 20 ) Em@ﬁﬁi?ﬁﬁ@&% 110KV 7R 4% L 3l 10kV 5805 i 5 [l 2% 10149.8 1619.64
[ P32 3k ik L N ) EM@WW%?%EE&% 110KV b AH A8 H 10kV 59179 7K 112k 11033.2 4197.36
] [ 3 S it v 2 ) Emgmmigﬁﬁgﬁ% 110kV ZE A% L 33 10kV5622 78 Hi vk 11 £k 11033.2 1714.06
[ PR32 3k ik L A ) EM@WW%?%EE&% 110KV T Al A H 10kV5523 5K 57 28 7326.6 1246.48
] [ 3 3 it v 2 ) Ewﬁﬁmigﬁﬁgﬁﬁ 110kV ZE 4% L 33 10kV5603 = H. £ 11033.2 1913.96
] P32 3k ik L 2 ) EM@%W%?%EE&% 110k V3 AL A8 B 10kV5312 & £ 9353.1 1976.88
] 943 3 it e, 2 ) @M@ﬁmigﬁﬁgﬁ% 110KV 7R 4% L3 10kV 5809 [A] & FF P4 T £& 9578.2 664.96
[ PR32 3k it L N ) EM@%W%?%EE&% 110KV 7 3% L 3 10kV5815%H % 114k 8712.2 1599.76
] [ 3 3 it v, 2 ) @MEﬁﬁigﬁEB&% 110KV I 7R 2% L 3y 10kV & 74 11 285703 8712.2 928.96
] ) 3 3k it f 2 ) Emgwmigﬁﬁg&m 110KV I 7R 7% L 33 10kV5701 28 AFA Y T £k 7326.6 457.18
] [0 32 33 it B, 20 ) Mwﬁﬁﬁigﬁﬁgﬁﬁ 110KV I 7R 2% L 33y 10kV {5 & 44 #1811 265738 8712.2 1849.36
] PR32 3k it L 2 ) Emgmmigﬁﬁg&m 110KV ZE o A8 # 10kV56145E 18 T £k 9353.1 717.98
] [ 3 3 it e 2 ) Mwﬁﬁﬁigﬁﬁgﬁ% 110kV T Al 2% H 33y 10kV5525 & b 2k 9578.2 3073.06
5] 94 3 3 i Bl 2 ) Emgmmigﬁﬁgﬁﬁ 110KV I, 7R 2% L 33 10kV5706 %< H 2k 8712.2 1929.86
] [ 32 335 it B, 20 ) EmgﬁmﬁgﬁﬁE&% 110KV I 7R 7% L 33y 10kV5709F] f# T £& 8712.2 1594.66
[ P32 3k ik L N ) EM@%W%?%EE&% 110KV % (2735 HL i 10kV502 % 4t 2k 11033.2 1708.46
] [ 3 3 it v 2 ) Emgﬁmigﬁﬁgﬁ% 110kV % (275 HL 3 10kV586.F7 I £k 10565.5 912

[E] P32 3k ik L N ) EM@WW%?%EE&% 110KV 7 #5738 HL 10kV 7R = 285104 8712.2 810.46
] [ 3 S it v 2 ) Emgﬁmigﬁﬁgﬁ% 110kV 75 #5725 L 33 10KV 3 Z5 22 48 5117 8712.2 2914.76
[ ) 32 31 ik #L 2 ) EMﬁﬁmﬁgﬁEE&% 110kV AL AR A L 3 10kV5908 17 I AR £k ( & 48 2 H) 8660.3 1150.24
] [ 3 3 it v, 2 ) Em@ﬁﬁi?ﬁﬁ@&% 110kV % 2745 HL 3 10kV584 %5 5 £k 8712.2 2493.96
[ P32 3k ik L N ) EM@%W%?%EE&% 110KV % (27435 HL 10kV501% =2k 9457 1262.4
] [ 3 3 it v 2N ) Emgﬁmigﬁﬁgﬁ% 110KV I 7 4% L3l 10kV573424)1F 11 4% 10149.8 750.44
] 932 3 4L Fi 2 EM@WW%@%EE&@ 35KV 7R B A% H 3 10kV865fE AT £k 8712.2 549.96
6] ¥R 32 kit fL 2 ) Ewﬁﬁmigﬁﬁgﬁﬁ 110kV b AH A% L3 10kV5906 = Hi £k 11033.2 1589.96
[ X3 3k it Fi A ) EM@%W%?%EE&% 110KV % (2735 HL i 10kV 5067 1 2k 2598.1 1397.18
] [ 3 3 it v, 2 5] R R 22 T A X 110kV T Al 2% L 33 10kVILTF T £k 5501 8712.2 2004.96
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FE] P 32 4k 14t H 2 ) Mwﬁﬁﬁigﬁﬁgﬁﬁ 110KV 73 28 HL il 10kV5702 #M i 45 [l 11 25 8712.2 139.66
FE ) 32 9k A1t Fi A ) Ewﬁmmigﬁﬁgﬁm 110KV %2 248 F 10kV5877% 372k 7326.6 838.38
[ 732 3 it oA ) ﬁwﬁﬁmigﬁﬁgﬁ% 110KV % 225 H 10kV503% 1.2k 8712.2 0
] 1 32 4k 14t Fl 24 ) Emgﬁmigﬁﬁgﬁﬁ 110KV 7 H6A8 F 10kV ZR 32k 5121 9179.9 0
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